PN
up=l
oo
System

Products

E%R

Industrial

BE8IXYAT—2 / T—TWH L X 160X 160

Motorized XY Linear Stages / Table Size 160X 160

RERA
Experi-
mental

FEEE
AF=
Manual
Stage

YA16F-L23101 YA16F-L23201 YA16F-L23301

[ElE
Rotation

@ YA16F-123101

596.5
(173) 16(0 ) (263.5) (63) 100 200 100 | 53

— #2 8for M6 screw (M8 tapped hole)
o i Shaft length 21mm wn

<

AAN)L
(I=#)
Swivel

(Tilt)
BEEE
ATF—=Y
Motorized
Stage

X-XY cew
X+ XY

Cw

(68)

160
140
100
140
150

015 Depth 15mm

PO CCW Limit sensor J P2 S @

#1 8-for M5 screw ‘ ‘
Shaft length 21mm =G

Back Side

47
160

[o_o [#%+°©

10-M5 Depth 10mm

(158.5)

ccw

(43)] 140 140 140 43

N
(127)

65

=

(4] (60)

[ElEA

Rotation

@ YA16F-123201 _5965)

(173) (263.5) (53) 100 200 100 53

. #2 8-for M6 screw (M8 tapped hole)
CW Limit sensor Shaft length 22mm
8

Home Position_{" 3 ﬁi
N
©

%‘ )

ZAN)L
(I=4) cw
Swivel [ =
(Tilt) }

754
XUk l

(118)

gy
]
2‘
-H
.
|
ef [ O o

160
140
100

&

g

&

3

3
140
150

iy

(486.5)

AF=
XY6

Bz
AF=
Vacuum
Stage Pl

o |

| 3 4 d
\_10-M5 Depth 10mm -CCW Limit sensor #1_8for M5 screw 9 P

© Shaft length 21mm

o o [%+°

CCwW
E )

= = Back Side

(43)) 140 140 140 43

(208.5)

HIHEE
Control
Electron-
ics

i1
Iy
i1

62

(127)

65

tT5—-
Sio-sl @ YA16F-L23301
Motor (173) 160 (263.5) N (53) 100 200 100 53
Controller 140

(596.5)

RSA4N CW Limit sensor | ° 2
Ry IR #2 8for M6 screw (V8 tapped hole)
Driver cw Shaft length 22Zmm

Box T — ﬁ’ S s 5 -
=

173)

%

T | Home Position

T

150

60
40
100
=
162

77U Q
X 015 Depth 15mm r

F—vay ] il
1 h” .

(596.5)

H

H
priad
f

Applica-
tion

ccw 10-M5 Depth 10mm #1_8for M5 screw
E=T= CCW Limit sensor i+ Shaft length 21mm

RSN\ B ?ﬁi( -
Motor = = & ack Side
Driver cw E Cccw @ j
'-5— |43, 140 | 140 | 140 |43
T—=2
Motor
Cable i T T 6-for M5 screw 70 70 _ M8Depth 11mm
" — . Shaft length 5mm™\_| /\/

357 ATYavF=IJI 0//&* 4M3 Depth 8mm
Appendix : — Vit

Option Table 39 8@ S| 8M4 Depth 11mm

= b ( | S5 Depth Tamm-
i

=y @ 0TX160-K 5
Hu— y EADBRF—YERMUNG SBEMSEEERE AU T, v

w

(263.5)

i1
Iy
T

(130)
65, 65,

¢

[oh

Bl

(o2}

5 ‘

Through hole for M5 screw mount from upper side. .60, |
Accesso- o . 90
ries BAHDBRTF—YERYNT BBREMBE Y TREBYET, 110
#2 Tapping hole for M8 screw mount from back side. 160

RE
VAT I
Inspection
System

H-038 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



g/ V=ZFHAK / K=l

Steel Body / Linear Guide / Ball Screw

4

<&

¢

v/

PN
K@
System
Products

oo YA16F-L23101 YA16F-L23201 YA16F-L23301
odel Number
BFEOERK
O Rt N YA16F-L23101-RRR YA16F-L23201-RRR YA16F-L23301-RRR
F—7)E
Table Size 160mmx160mm
ESo Pk BRUZTHAN
Guide Mechanism Linear Guide
B EhEEE +50mm (L&), £152mm (T éh) +100mm (L&), £152mm (&) +152mm (L&), £152mm (T &)
Motion Range +50mm (upper), £152mm (lower) +100mm (upper), £152mm (lower) +152mm (upper), £152mm (lower)
EYHR A=%D, J)—K 5.0mm

Lead Mechanism

Ball Screw, Lead 5.0mm

TIW/IN=T ATV T
SR 0 Full/Half Step 10um/5um
Resolution =~ | Y(/AATY7 (1/20%8)) 0.5um
Micro Step (1/20 div) e
RERE
Maximum Speed 50mm/sec
RIEU—RNRE =15um/100mm (L&), £20um/304mm (&) | =20um/200mm (L&), <20um/304mm (F&) | <20um/304mm (L&), <20um/304mm (&)
Accumulated Lead Error =15um/100mm (upper), =20um/304mm (lower) | =20um/200mm (upper), S20pym/304mm (lower) | =20um/304mm (upper), =20pm/304mm (lower)
BRI BIRDIEE
Repeatability =+0.5um
OANE—3>
Lost Motion =5um
IKFE <4um/100mm (L&), <5um/304mm (F#) | <5um/200mm (L&), <5um/304mm (Té) <5um304mm (L&), <5um/304mm (TF&h)
HEE Horizontal <4pm/100mm (upper), <5um/304mm (lower) =<5um/200mm (upper), =5um/304mm (lower) =<5um/304mm (upper), =5um/304mm (lower)
Straightness ESEl <2um/100mm (L&), =5um/304mm (T&h) | =5um/200mm (L&), <5um/304mm (TF&h) <5um304mm (L&), <5um/304mm (&)
Vertical <2um/100mm (upper), <5um/304mm (lower) <5um/200mm (upper), <5um/304mm (lower) =<5um/304mm (upper), =5um/304mm (lower)
NvgZva
Backlash =2um
XA .
Moment Load Stiffness ~ 0% e/ e
IKF TR
(Tl 274N (28kgf) ‘ 254N (26kgf) 205N (21kgf)
7N (=TI TIIER)
Material Steel (Table: Aluminum Alloy)
S8 el 7
Finish Matt Black
AE 29.7kg 31.7kg 36.4kg
Weight : : :

SHEATVEVTE—5—
5 Phase Stepper Motor

C087Q-9215P (AU I I E—R—LUHFAEX: ERER 0.75A/, BARTvTH 0.72°, U—RR5XK)
C087Q-9215P (Oriental Motor (KOHZU exclusive): Phase Current 0.75A, Basic Step Angle 0.72°, 5-Leads)

T—X—#E ®8mm AT av/\URIL: B type
Motor Shaft Diameter ®8mm Conformance option handle: B type
aAXIR A20E> (EO+: RP13A-12RA-20PC)
Connector 20Pin Round (Hirose: RP13A-12RA-20PC)
AT —IfEHREAT o,

Stage Wiring Type 4 V3

RRER RREFRORRIC, 8/l (F—& L) E2 T ZFBAL TOET CWRIERES .

Returning direction Returning direction is determined with zone sensor. CW side’s light is intercepted in all time.
T ERK

Sensor Model

F-104(LIMIT), F-105(HOME)

I =2 ") ZAHHREIR

Clean Room Lubricant Model Number UalErLEEEe

YA16F-L23201-C

YA16F-L23301-C

R AR

Vacuum Lubricant Model Number

YA16F-L23101-V

YA16F-L23201-V

YA16F-L23301-V

BFEVICDVWTIEH-005X—2 28 L TTFEL.

Refer to page H-005 for Information on Standard and Mirror Symmetry
Configuration.

wp AT—VORERN=TATYTTHO>TEYVET.

) Stage is inspected by half step setting.

1

o F—N—FR—IBIIXEBRREEENEEA. FRICOVTRIGN-IUZBRL
TT&EL,
Additional parts cost is not included on Overhaul cost. Refer to page 16 for
further information.

o JU=2F Y AERROBRIEKRREIC -C” HPRHEET, FHAICDLTIFC-005~—
ZBRLTTE,
Clean room lubricant model has “-C” at the end of model number. Page C-005 for
further information.
B2 AHHROBRIERREIC -V PEEET. FHICOLWTIEC-005K—T %2
RLUTTE.
Vacuum lubricant model has “-V” at the end of model number. Page C-005 for
further information.

o - —HEOFMIC DN TIFC-004X—2 BB L TT 0,
Page C-004 for further information about motor change.
MY DE—F—a> rO—F - RFA/NZDWTIEN-002X—=TZ BB L TTF X,

Refer to page N-002 for information on corresponding motor controller and driver.

BREIWLWEDLEIE*TEL:044-981-2131,7 FAX:044-981-2181

%3 XAT—DBAEOE—X 2 MAIMERO—LBIEERY ET,

) Moment Stiffness of single X stage is measured in Roll Direction.

4 AT —IAEROFHMIC DO TIEN-026 ~N-027X—2 BB L TTEL.
) Refer to page N-026~N-027 for stage wiring connection information.

o $IETDE—X =T —TIUIDVWTIEN-014~N-015X—=U BB LTTEL,
Refer to page N-014~N-015 for information on corresponding motor cable.
) XYTO#AFT % CHFLDEIL. EEPETHHEOEDLETEN.

About the XY assembly for these stages, contact us for further information.

2HATYEV I E—R—{tHREEVET.

2 phase stepper motor is available.

7Y VIZDNWTIEO-001IRX—=I BB L TT X0,
Refer to page 0-001 for information on accessory.
F72a>NY RILF0-008N—U %8R L TTFEL,

Refer to page 0-008 for information on Option Handle.

o BEHRDIRLICKRADLED RN ET, FHLREFRBETEHVADETEL,

We appreciate the product customizing. Contact us for further information.

[E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

EXR

Industrial

RERA
Experi-
mental

X-XY
X-XY

[ElEn

Rotation

AAN)L
(I=#)
Swivel
(Tilt)

BEE
25—

Motorized
Stage
X-XY
XeXY

[Elk

Rotation

ZAR)L
(I=#)
Swivel
(Tilt)
734
XUk
AF=
XYe

Rz
27—
Vacuum
Stage

=S
Control
Electron-
ics

tT-5—-
avhk0-5
Motor
Controller

RS\
Ry IR
Driver
Box

77U
T—vav
Applica-
tion

tT—9—
[NE A
Motor
Driver

E==
7=
Motor
Cable

8%
Appendix

7ot
JU—
Accesso-
ries

RE
VAT L
Inspection
System

H-039



